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11. In early embryogenesis which of the following hormones will be abundant?

12.

13.

14.

15.

16.

1k,

18.

19.

20.

a. Gibberellins and Ethylene b. Auxin and Gibberellins
¢. ABA and cytokinin d. Cytokinin and Ethylene

The process of seed germination is the critical stage in plants life cycle and therefore plants have
evolved precise mechanism for its regulation. Therefore there are few statements regarding this.
Select the incorrect statement/ statements.

1) Gibberellic acid (GA) and ABA are the main phytohormones that participate in the regulation of
seed germination process.
II) GA and cytokinin are the main phytohormones that participate in the regulation of seed
germination process.
IIT) The increase of GA during seed germination is associated with a decrease in ABA because GA
functionally destabilizes ABA.
1V) Increase of GA in seed germination is associated with decrease in ABA due to presence of
Cytochrome P-450 which helps in ABA catabolism.

a. lonly b. Il only

c. land 1V d. ITandIII
Which of the following is the component of nitrogenase?

a. Fe-Mo protien b. Mo protien
¢. Fe- protien d. Mn protein

Nitrate is reduced and ultimately produces N> through a series of intermediate gaseous
nitrogen oxide products is called as:

a. Nitrogen fixation b. Nitrification

c¢. Denitrification d. Nitrogen assimilation
Which of the hormone regulates cell division and differentiation?

a. Gibberellin b. Auxin

c¢. Ethylene d. Cytokinin

The process seed germination starts with:

a. Imbibation b. Osmosis

¢. Diffusion d. Bothbandc
Inorganic nutrients are present in the soil as:

a. Atoms b. Molecules

¢. Electrically charged ions d. Electron

Dark period is critical for:

a. Long day plants b. Short day plants

¢. Day Neutral plant d. Bothaandb

On oxidation of 1 molecule of glucose, ATP is produced through aerobic
respiration.

a. 10 b. 25

c. 30 d. 38

Which of the following is an important precursor of gluconeogenesis?
a. Lactate b. Glycerol

¢. Pyruvate d. Glucose 6 phosphate

2 USTM/COE/R-01



Time : 2 hr. 30 mins.

1.

6'

7

il‘hk .Jh }

What is flower and ripene:
between short day and long d
Describe:
a) The regeneration of RUBP

b) ATP formation in respiration
What is kranz anatomy? Write
pathways of carbon fixation.
Define Ramachandran’s plot.
Pro' - 2 ™
Physiological effect of ABA
a) Describe the physiologica
b) Discuss the relationship
hydrolytic enzyme synthe
grain.

b) Starch
¢) Phospholipids




